
 

MA 351 Fall 2024 Quiz 1 5 Solution

Quiz 1 Linearity Property of LinearTransformation

input j T f output

1 T 1

A T 111 1 1
11 T 11 1 1,1 1



input I T f 1 output

Prone If Y T Pg

1 T R
82

then

y
T

ftp.qq

addition of inputs leads to addition ofoutputs



More
generally

Hw 1 Add Problem

T1 1 4
g

1 1 1 1 1 D
a Mitta bly ya fax

ax by by

China dly y exit exit dyndys

fax
it by

may 4 4



b T ax bay
Ax day

Y Y
6
THY my

T im
xy.my

EMI b 114 142
c Ext 4114M
anxit bay am bulk
exit day cast dMYz



I a

TM M
Make use of

TMI 4 Tx
AT MT

TKñ pT TT PTT



Quiz 2 Penney p 57 Ex 1.11

a Find conditions on a b c d st

3
44 7 W b is solvable

b If b 2 0 1 find all a and d such
that the above system is solvable



a
1 1 2 1

1913 for 7 5 2 b a4 1

4 3 3 2 0 7 5 2 C Ka
5 2 5 3 0 7 5 2 d 59

1 a cats
a s.es

b D 2 C 1 1 9 2 a 3

d 21 3 2 2 4



Quiz 3

Consider 77 y Xx

6 84 Xy
Solve the system for 1 5 10 15

1 5 I j 1 3 8 888

Y S

Solution f s infinitelymany solution



1 10 3X 0

a ago
18 8

Y S 5

Solution
g s inf many solutions

1 15 8 4 0

6 74 0
8 I 18 18

1 1 I
Solution

f 8 x 0,4 0

only the trivialsoln



Quiz 4 Fill in blanks

8 s 7 tf
E I

18

I f t E

pf of E s tf
1 I I



f sit

f

0 1 2 s t

if

0 I 2 s t

9
2 s t

0

8

A 3 s at



8 s 7 tf f f 71

I

3 5 27 2 s t

Given sit p 3 5 29 9 2 5 t

M You can in fact solve for
sit in terms of pig

p 3 5 24 S Itp 28
9 2 s t t 1 pig



Hence

8 f E P1 81

5 Hp 2g
t L ptg

or equivalently

8 f s f 1

p 1 5 27 q 1 Stf



AlternativelynI

f of E 1 4

β 7 8
1 1 II

3 1 4 25 54

1



I 5 It
9 4 25 54

1 I 2 t

f

o s t

0 I I s t
2 the same

O l l S tt

1

its 4

I 1 Stf
O O O

p 1 5 24 q i Stf



Quiz 5
Penney p 101 Ex 2 3

A B C D

Let V Span s to
1 Throw away all the redundant vectors

Ii Express those redundant vectors as linear
combinationof the remaining non redundant
vectors

Ans a

all 3 e a 3 2 1



2 2 2 2

1 2 1

f

l t 1 0

1 it

I 9 α β
9 2 2β 2 22 β

ie 2 2B A 12 9 B αC βD 0



αC βD
α 2pA C 2αtβB

2 1 β C A 2B

13
2 0

β I D 2A B

1 21 1


